1/5

EH2-2. KIGEBEER

1HE HEHIER HEER HEHER HEER
(1 %4 fiB) (K% 1B) (x1 %5 fiE) (K% 1B)
¥7° W8 85 85 51 51
F15 5. 322 1. 67E+07 5. 390 3. 02E+05
BERE 0.874 4. 29E+08 0.276 2. 23E+05
R (B 5. 362 2. 30E+05 5. 362 2. 30E+05
=AfE 9. 505 3. 20E+09 6.079 1. 20E+06
&/ME 4.146 1. 40E+04 4.740 5. 50E+04
N=a=En.d N=fu=En. 4 s
PO e EURE A | |man| moMRE | BE |geq| 2E | BE |(Bew | mem|wmE ee el o | 2o
= xt i R x g R EMB BGLB FLHE7 4 mE Hik (°c) = %zl | FiRB |RE 15 H E TH E § AC AR
BRR | GEuib | BRI | EHiE) 2
1 -1 5. 431 2. TE+05 3.3 A 8.7 1/31 9:22 1/31 10.2 1/31] 35.0 2/1 35.0 [4. T <bUTALL
1 - 2 5.362 2. 3E+05 3.3 A 8.7 1/31 9:22 1/31 10. 1 1/31] 35.0 2/1 35.0 [4. T <bUTALL
1 — 3 5. 255 1. 8E+05 3.3 R 8.7 1/31 | 9:22 1/31 10.1 1/31] 35.0 | 2/1 [ 35.0 |[4. ZDih| ~bUTqILL
2 — 1 5. 000 1. OE+05 3.3 BE 8.7 1/31 | 9:22 1/31 10.8 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~<bUTAqILL
2 — 2 5. 371 2. 4E+05 3.3 i) 8.7 1/31 | 9:22 1/31 10.5 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~bUTAILL
2 — 3 5. 439 2. 8E+05 3.3 R 8.7 1/31 | 9:22 1/31 10. 6 1/31] 35.0 | 2/1 [ 35.0 |[4. ZDih| ~bUTqILL
3 — 1 5. 342 2. 2E+05 6.7 i A 8.7 1/31 | 9:22 2/1 10.0 2/1] 35.0 | 2/2 | 35.0 |4 Zfth]| ~+uTsLL
3 — 2 5. 447 2. 8E+05 6.7 B 8.7 1/31 | 9:22 2/1 10.1 2/1] 35.0 | 2/2 | 35.0 |4 ZDfth]| ~<tuTsLL
3 — 3 5. 633 4. 3E+05 6.7 i3 8.7 1/31 | 9:22 2/1 10.1 2/1] 35.0 [ 2/2 | 35.0 |4 Zfth] ~<tuTsis
4 -1 5.342 2. 2E+05 6.7 B 8.7 1/31 | 9:22 2/1 10.0 2/1] 35.0 | 2/2 | 35.0 |4 Zfth| ~<+uTsLL
4 - 2 5.342 2. 2E+05 6.7 i A 8.7 1/31 | 9:22 2/1 10.0 2/1] 35.0 | 2/2 | 35.0 |4 ZDfth]| ~<tuTsLL
4 — 3 5.362 2. 3E+05 6.7 bin 8.7 1/31 9:22 2/1 9.9 2/1] 35.0 2/2 | 35.0 |4 ZDf] ~<buTqLL
5 — 1 5.230 1. 7E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
5 — 2] 5.580 3. 8E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
5 — 3] 5.716 5. 2E+05 Bt 6.6 iR 20.0 | 1/31 | 11:30 | 1/31 10.0
6 — 1 5. 653 4. 5E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
6 — 2] 5.643 4. 4E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
6 — 3] 5.431 2. TE+05 Bt 6.6 iR 20.0 | 1/31 | 11:30 | 1/31 10.0
17 -1 5.531 3. 4E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
7 — 2] 5.380 2. 4E+05 &t 6.6 R 20.0 | 1/31 | 11:30 | 1/31 10.0
7 — 3] 5.602 4. 0E+05 Bt 6.6 iR 20.0 | 1/31 | 11:30 | 1/31 10.0
9 — 1 5.000 1. 0E+05 it 5.0 i3 1/31 | 11:23 | 1/31 10.1 1/31] 35.0 | 2/2 | 35.0 |1.BREE
9 — 2] 5.380 2. 4E+05 1k 5.0 i3 1/31 [ 11:23 | 1/31 10.0 1/31] 35.0 | 2/2 | 35.0 |1.BREE
9 — 3] 4.146 1. 4E+04 1k 5.0 i3 1/31 [ 11:23 | 1/31 10.2 1/31] 35.0 | 2/2 | 35.0 [1.BREE
n -1 5.699 5. 0E+05 1k 6.0 i3 5.0 | 1/31 [15:20 | 2/1 10.2 2/1] 35.0 | 2/2 | 35.0 [4. Z(Dith 2845 )L
n -2 5. 663 4. 6E+05 1k 6.0 i3 5.0 | 1/31 [15:20 | 2/1 10.0 2/1] 35.0 | 2/2 | 35.0 [4. Z(Dith 2845 )L
11 - 3 5. 663 4. 6E+05 [k 6.0 i3 50 | 1/31 [15:20 | 2/1 10.3 2/1] 356.0 | 2/2 | 35.0 [4. Z(ith 284 5L
12 — 1 5. 580 3. 8E+05 1k 6.4 i3 8.0 | 1/31 | 10:00 | 1/31 10.0
12 — 2 5.699 5. 0E+05 1k 6.4 i3 8.0 | 1/31 | 10:00 | 1/31 10.1
12 — 3 4.740 5. bE+04 1k 6.4 i3 8.0 | 1/31 [10:00 | 1/31 10.6
13 — 1 5.322 2. 1E+05 1k 1k 10.3 i3 6.0 | 1/31 [ 11:40 | 1/31 10.3
13 — 2] 5.380 2. 4E+05 1k 1k 10.3 i3 6.0 | 1/31 [ 11:40 | 1/31 11.2
13 — 3] 5.380 2. 4E+05 [k BBt 10.3 i3 6.0 | 1/31 [ 11:40 ] 1/31 10.3




2/5

B4 KIBHBEHE
1HE HEHIER HEER HEHER HEER
(1 %4 fiB) (K% 1B) (x1 %5 fiE) (K% 1B)
¥7° W8 85 85 51 51
F15 5. 322 1. 67E+07 5. 390 3. 02E+05
BERE 0.874 4. 29E+08 0.276 2. 23E+05
R (B 5. 362 2. 30E+05 5. 362 2. 30E+05
=AfE 9. 505 3. 20E+09 6.079 1. 20E+06
&/ME 4.146 1. 40E+04 4.740 5. 50E+04
N=a=En.d N=fu=En. 4 s
PO e EURE A | |man| moMRE | BE |geq| 2E | BE |(Bew | mem|wmE ee el o | 2o
= xt i R x g R EMB BGLB FLHE7 4 R P (°c) = %zl | FiRB |RE 15 H E TH E § AC AR
BRR | GEuib | BRMH | Eai) 2
14 — 1 5.7 5. 1E+05 6.1 A 8.2 1/30 | 9:50 1/31 10. 1 1/31| 34.4 2/1 34.3 |[4. T RbUTALL
14 — 2 5.65 4. 5E+05 6.1 A 8.2 1/30 | 9:50 1/31 9.9 1/31| 34.4 2/1 34.3 |[4. T <bUTALL
14 — 3 5.59 3. 9E+05 6.1 R 8.2 1/30 | 9:50 | 1/31 10.2 1/31] 34.4 | 2/1 [ 34.3 |4. ZDih| ~bUT1LL
15 — 1 5.97 9. 3E+05 6.8 BE 5.0 1/31 | 11:45 | 1/31 10.0 1/31] 35.5 2/1 35.5 |4 ZDMh| <bUTs L
15 — 2 5.98 9. 5E+05 6.8 R 5.0 1/31 | 11:45 | 1/31 10.0 1/31] 35.5 2/1 35.5 |4 ZDMh| <EUTsLL
15 — 3 6.08 1. 2E+06 6.8 bin 5.0 1/31 | 11:45 | 1/31 10.0 1/31] 35.5 | 2/1 [ 35.5 |4. ZDih| ~bUTqLL
16 — 1 5. 11 1. 3E+05 St &t 4.3 i A 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~bUTAILL
16 — 2 5.18 1. 5E+05 St &t 4.3 B 10.0 | 1/31 | 9:37 1/31 10.2 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~bUTAiLL
16 — 3 5.15 1. 4E+05 Bt Bt 4.3 i3 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 |4. ZDih| ~bUTqLL
17 — 1 5. 11 1. 3E+05 St &t 4.3 B 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~<rUTAqILL
17 — 2 5.26 1. 8E+05 St &t 4.3 i A 10.0 | 1/31 | 9:37 1/31 10.1 1/31] 35.0 | 2/1 [ 35.0 |[4. ZDHh| ~bUTAILL
17 — 3 5.28 1. 9E+05 1k Bt 4.3 i3 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 |[4. ZDih| ~bUTqILL
18 — 1 5.58 3. 8E+05 &t it 4.3 i3 10.0 | 1/31 | 9:37 1/31 10.1 1/31] 356.0 | 2/1 | 35.0 |[4. ZDHh| ~rUTAqLL
18 — 2 5.53 3. 4E+05 &t it 4.3 i3 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |[4. ZDHh| ~rUTAqILL
18 — 3 5. 51 3. 2E+05 Bt &t 4.3 i3 10.0 | 1/31 | 9:37 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 |[4. Zih| ~bUTqLL
19 — 1 5.49 3. 1E+05 10.2 bin) ] 1.0 2/1 9:45 2/1 10.1 2/1] 35.0 | 2/2 | 35.0 |4 ZDfth| ~<tuTsLL
19 — 2 5.57 3. TE+05 10.2 bin) ] 1.0 2/1 9:45 2/1 10.1 2/1] 35.0 | 2/2 | 35.0 |4 ZDfth| ~<tuTsLL
19 — 3 5. 65 4. 5E+05 10.2 bin) ] 1.0 2/1 9:45 2/1 10.1 2/1] 35.0 [ 2/2 | 35.0 |4 Zfth] ~<tuTsLL
20 — 1 5.398 2. 5E+05 it 4.9 i3 5.0 1/31 | 8:56 1/31 11.2
20 — 2] 5.362 2. 3E+05 it 4.9 i3 5.0 1/31 | 8:56 1/31 10.0
20 — 3] 5.471 3. OE+05 Bt 4.9 i3 5.0 1/31 | 8:56 1/31 10.0
21 — 1 5. 881 1. 6E+05 4.6 i3 3.0 1/31 | 9:30 [ 1/31 10.0 1/31] 35.0 [ 2/1 [ 35.0 |4 Ziis i 1 it
22 — 1 5.708 5. 1E+05 4.6 i3 3.0 | 1/31 | 9:30 | 1/31 10.0 1/31] 35.0 [ 2/1 [ 35.0 |4 Ziis i 311
23 — 1 5. 362 2. 3E+05 4.6 i3 3.0 | 1/31 | 9:30 | 1/31 10.0 1/31] 35.0 [ 2/1 [ 35.0 |4 Ziis i 311
24 — 1 4.833 6. 8E+04 1.0 i3 3.5 | 1/31 [10:50 | 1/31 9.7 1/31] 34.0 | 2/1 | 34.0 |1 BREE
25 — 1 4.732 5. 4E+04 1.0 i3 6.0 | 1/31 [ 10:50 | 1/31 9.8 1/31] 34.0 | 2/1 [34.0
26 — 1 5. 653 4. 5E+05 1k 15.2 i3 1/31 1 9:37 1/31 10.2 1/31] 35.0 | 2/1 | 35.0 |[1.BREE
27 — 1 5. 756 5. TE+05 1k 15.2 i3 1/31 1 9:37 1/31 10.2 1/31] 35.0 | 2/1 | 35.0 |[1.BRHEE
28 — 1 5. 869 1. 4E+05 1k 15.2 i3 1/31 | 9:37 1/31 10.2 1/31] 35.0 | 2/1 | 35.0 [1.BREE
29 — 1 4.602 4. 0E+04 1k 1k 1k 1.5 i3 4.0 | 1/31 |10:00 [ 1/31 10.0 1/31| 35°C | 2/2 | 35°C |1.BRiE®E
29 — 2] 4.663 4. 6E+04 1k 1k 1k 1.5 i3 4.0 | 1/31 |10:00 [ 1/31 10.0 1/31| 35°C | 2/2 | 35°C |1.BRiEE
29 — 3] 4.643 4. 4E+04 [k [k [k 1.5 i3 4.0 | 1/31 | 10:00 [ 1/31 10.0 1/31] 36°C | 2/2 | 35°C |1.BREE




EH2-2. KIGEBEER

3/5

BB £iHER HEHER EEHER HEHER
(et %fE) (E%E) (€8 {0) (E%E)
¥7 18 85 85 51 51
£33 5. 322 7.67E+07 5.390 3. 02E+05
BERm= | 0.874 4. 29E+08 0.276 2. 23E+05
T RIE 5362 2. 30E+05 5.362 2. 30E+05
BAIE 9. 505 3. 20E+09 6.079 1. 20E+06
BIME 4,146 1. 40E+04 4,740 5_50E-+04
N=Fu=En. 3 N=Fd=E=. 3 s
PO e EURE A | |man| moMRE | BE |geq| 2E | BE |(Bew | mem|wmE ee el o | 2o
= xt i R x g R EMB BGLB FLHE7 4 mE P (°c) = %zl | FiRB |RE 15 H E TH E § AC AR
GER) (E3fE) | GERLUS) (2 {E) EN;
30 — 1| 4.568 3. JE+04 [EIE &1 [EIE 1.5 A 4.0 | 1/31 [ 10:00 [ 1/31 | 10.0 1/31] 35.0 | 2/2 | 35.0
30 — 2| 4.602 4. 0OE+04 [E 4k &1 £k 1.5 AR 4.0 | 1/31 [ 10:00 [ 1/31 | 10.0 1/31] 35.0 | 2/2 | 35.0
30 — 3 4.613 4. 1E+04 R Rk 514 7.5 B 4.0 1/31 ] 10:00 | 1/31 10.0 1/31] 35.0 2/2 | 35.0
31 — 1 5.380 2. 4E+05 5% &1 51 6.3 B 4.0 1/31 | 11:30 | 1/31 10.0 1/31] 35.0 2/2 | 35.0 |1.:BRiEE
31 — 2| 5.176 1. 5E+05 (B4 4k &1 6.3 BB 4.0 | 1/31 [ 11:30 | 1/31 10.0 1/31] 35.0 | 2/2 | 35.0 [1.BRE®E
31 — 3| 5.255 1. 8E+05 [E1E B 1k [Z1E 6.3 ik 4.0 | 1/31 [ 11:30 [ 1/31 | 10.0 1/31] 35.0 | 2/2 | 35.0 [I.BREHE
32 — 1 4. 857 7. 2E+04 5% & 51 6.3 A 4.0 1/31 | 11:30 | 1/31 10.0 1/31| 35.0 2/2 | 35.0 |1.:BRigE
32 — 2 5.041 1. 1E+05 5% & 51 6.3 A 4.0 1/31 | 11:30 | 1/31 10.0 1/31| 35.0 2/2 | 35.0 |1.:BRigE
32 — 3| 4.771 5. 9E+04 [EIE 514 51 6.3 AR 4.0 | 1/31 [ 11:30 [ 1/31 | 10.0 1/31] 35.0 | 2/2 | 35.0 |I.BWiEHE
33 — 1 4.653 4. 5E+04 5% & 51 1.7 A 5.0 1/31 | 10:15 | 1/31 10.0 1/31| 35.0 2/2 | 35.0
33 — 2 4.663 4. 6E+04 5% & 51 1.7 A 5.0 1/31 | 10:15 | 1/31 10.0 1/31| 35.0 2/2 | 35.0
33 — 3 4.623 4. 2E+04 R Rk 514 7.7 B 5.0 1/31 | 10:15 | 1/31 10. 1 1/31] 35.0 2/2 | 35.0
4 — 1 4.690 4. 9E+04 & &1 &1 1.7 A 4.0 1/31 | 10:15 | 1/31 10.0 1/31] 35.0 2/2 | 35.0 [1.iBWuEE
4 — 2 4.699 5. 0E+04 & &1 &% 1.7 A 4.0 1/31 | 10:15 | 1/31 10.0 1/31] 35.0 2/2 | 35.0 [1.iBWuEE
34 — 3 4.672 4. TE+04 & Rk Rk 7.7 B 4.0 1/31 | 10:15 | 1/31 10.0 1/31] 35.0 2/2 | 35.0 |1 iBRiEE
35 — 1| 5.531 3. 4E+05 9.0 B 5.0 | 1/31 | 8:50 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 [1.iEmuE®
35 — 2| 5519 3. 3E+05 9.0 B 5.0 | 1/31 | 8:50 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.iEMuE®
35 — 3| 5.544 3. 5E+05 9.0 AR 5.0 | 1/31 | 8:50 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |I.iEM#EH
36 — 1 5.398 2. bE+05 Ak oAk 10. 7 B 1/31 | 10:20 | 1/31 10.0 1/31] 35.0 2/1 35.0 |1.RRIEH
37 — 1| 5.204 1. 6E+05 5% 5 1% 10. 7 AR 1/31 ] 10:20 | 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |I.iEMiEH
38 — 1] 5.633 4. 3E+05 5% 5 1% 10. 7 AR 1/31 ] 10:20 | 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |I.iEMiEH
39 — 1 9.505 3. 2E+09 6.4 A 1/31 | 12:00 | 2/13 10.0
39 — 2 9.114 1. 3E+09 6.4 A 1/31 | 12:00 | 2/13 10.0
39 — 3 9. 301 2. 0E+09 6.4 B 1/31 | 12:00 | 2/13 10.0
40 — 1 5. 491 3. 1E+05 4.8 A 6.0 1/31 | 10:54 | 1/31 10.0
40 — 2 5. 477 3. 0E+05 4.8 A 6.0 1/31 | 10:54 | 1/31 10.0
40 — 3 5. 556 3. 6E+05 4.8 B 6.0 1/31 | 10:54 | 1/31 10.0
a1 — 1 4.638 4. 4E+04 4.8 A 6.0 1/31 | 10:54 | 1/31 10. 1
41 - 2 5. 643 4. 4E+05 4.8 A 6.0 1/31 | 10:54 | 1/31 10.0
41 - 3 5.712 5. 2E+05 4.8 B 6.0 1/31 | 10:54 | 1/31 10.0
42 - 1 5.672 4. TE+05 &1 51 8.0 A 5.0 1/31 9:00 2/1 10. 1 2/1] 35.0 2/2 | 35.0 |1.;BRigE
42 - 2 4.602 4. 0E+04 &1 51 8.0 A 5.0 1/31 9:00 2/1 10.0 2/1] 35.0 2/2 | 35.0 |1.iBWuEE




EH2-2. KIGEBEER

4/5

1HE HEHIER HEER HEHER HEER
(1 %4 fiB) (K% 1B) (x1 %5 fiE) (K% 1B)
$57° I3 85 85 51 51
F15 5. 322 1. 67E+07 5. 390 3. 02E+05
BERE 0.874 4. 29E+08 0.276 2. 23E+05
R (B 5. 362 2. 30E+05 5. 362 2. 30E+05
=AfE 9. 505 3. 20E+09 6.079 1. 20E+06
&/ME 4.146 1. 40E+04 4.740 5. 50E+04
N=F X N=Fd=fs 3 .
PO e EURE A | |man| moMRE | BE |geq| 2E | BE |(Bew | mem|wmE ee el o | 2o
= xt i R x g R EMB BGLB FLHE7 4 R p (°c) = %zl | FiRB |RE 15 H E TH E § AC AR
(BB | (Emi) | CRRMO | (D) 2
3 -1 4.580 3. 8E+04 A 1/31 9:27 1/31 10.3 1/31] 35.0 2/1 35.0 |1 BREE
3 — 2| 4.813 6. 5E+04 A 1/31 9:27 1/31 10.8 1/31] 35.0 2/1 35.0 |1.BREE
43 — 3] 4.875 1. 5E+04 R 1/31 | 9:27 1/31 10.1 1/31] 35.0 | 2/1 | 35.0 |I.BR#EE
“ - 1 5.279 1. 9E+05 BE 1/31 9:27 1/31 10.4 1/31] 35.0 2/1 35.0 |1 MR
4 — 2| 5415 2. 6E+05 R 1/31 9:27 1/31 10.2 1/31] 35.0 2/1 35.0 |1 MR
4 — 3 5. 380 2. 4E+05 R 1/31 9:27 1/31 10.3 1/31] 35.0 2/1 35.0 |1 BHER
45 — 1 5. 041 1. 1E+05 10 BE 1/31 | 10:47 | 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 | 4 Zo#h | <bUTAILL
45 — 2 5. 000 1. OE+05 10 BE 1/31 | 10:47 | 1/31 10.0 1/31] 35.0 2/1 35.0 [ 4zt | REUTALL
45 — 3 5. 041 1. 1E+05 10 R 1/31 | 10:47 | 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 | 420 | RbUTAILL
6 — 1 5. 041 1. 1E+05 10 BE 1/31 | 10:47 | 1/31 10.1 1/31] 35.0 | 2/1 [ 35.0 | 4 Zo#h | <bUT AL
46 — 2 5.079 1. 2E+05 10 BE 1/31 | 10:47 | 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 | 4 Zo#h | <bUTAILL
46 — 3 5.079 1. 2E+05 10 R 1/31 | 10:47 | 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 | 420 | RbUTAILL
47 - 1 5.114 1. 3E+05 10 bin) ] 1/31 | 10:47 [ 1/31 10.1 1/31] 35.0 | 2/1 [ 35.0 | 4 2o#h | <bUTAILL
47 - 2 5.079 1. 2E+05 10 i) 1/31 | 10:47 [ 1/31 10.2 1/31] 35.0 | 2/1 [ 35.0 | 4 Zo#h | <EUTAILL
47 - 38 5.279 1. 9E+05 10 bin) ] 1/31 | 10:47 [ 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0 | 4 Zofh | <bUTAILL
48 - 1 4.544 3. 5E+04 i3 4.0 1/31 | 9:00 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.BREHE
48 — 2| 4778 6. 0E+04 R 4.0 | 1/31.].9:00 | 1/31 | 10.0 1/31].35.0 | 2/1 | 35.0 |1 BARis%
48 — 3] 4.699 5. 0E+04 i3 4.0 1/31 | 9:00 10.0 1/31] 35.0 | 2/1 | 35.0 [1.BREE
49 - 1 4.176 1. 5E+04 4.0 i)} 4.0 1/31 | 9:00 [ 1/31 10.1 1/31] 35.0 | 2/1 | 35.0 |1.BREHE
49 — 2| 4.845 1. OE+04 4.0 i) 4.0 1/31 | 9:00 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.BREHE
49 — 3] 4.813 6. 5E+04 4.0 bin) ] 4.0 1/31 | 9:00 [ 1/31 10.1 1/31] 35.0 | 2/1 | 35.0 [1.BREE
50 — 1 5. 556 3. 6E+05 5.7 bin) ] 8.0 1/31 | 11:30 [ 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0
50 — 2] 5.362 2. 3E+05 5.7 bin) ] 8.0 | 1/31 [ 11:30 | 1/31 10.0 1/31] 35.0 | 2/1 [ 35.0
50 — 3] 5.505 3. 2E+05 5.7 B 8.0 | 1/31 | 11:30 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0
51 — 1 5.519 3. 3E+05 5.7 B 8.0 | 1/31 | 11:30 | 1/31 10.0 1/31]  35.0 2/1] 35.0|1. BRiEE
51 — 2] 5.519 3. 3E+05 5.7 B 8.0 | 1/31 | 11:30 | 1/31 10.0 1/31]  35.0 2/1] 35.0|1. BREE
51 — 3] 5.462 2. 9E+05 5.1 ik 8.0 | 1/31 [ 11:30 | 1/31 10.0 1/31]  35.0 2/1] 35.0|1. EMRiEE
5 — 1 5. 301 2. 0E+05 5.7 bl 8.0 | 1/31 | 11:30 | 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.iRMmiEE
52 — 2] 5.415 2. 6E+05 5.7 bl 8.0 | 1/31 | 11:30 | 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.iRMmiEE
52 — 3] 5.556 3. 6E+05 5.7 bind 1 8.0 | 1/31 | 11:30 [ 1/31 10.0 1/31] 35.0 | 2/1 | 35.0 |1.iRMmRiEE
5 — 1 5.322 2. 1E+05 2.2 binl ] 5.0 | 1/31 | 8:45 1/31 3.28 1/31] 35.0 | 2/1 | 35.0 |4. ZDfth| ~rUTqLL
53 — 2 5. 362 2. 3E+05 2.2 binl ] 5.0 | 1/31 | 8:45 1/31 3.33 1/31] 35.0 | 2/1 [ 35.0 |4. ZDfth| ~rUTqLL
53 — 3 5.322 2. 1E+05 2.2 AR 5.0 | 1/31 | 8:45 1/31 3.24 1/31] 35.0 | 2/1 | 35.0 |4. ZDfth| ~rUTsLL




EH2-2. KIGEBEER

5/5

EE | FHER | ®HBE | £HER | £HE
(1 %4 fiB) (K% 1B) (x1 %5 fiE) (K% 1B)
¥7° W8 85 85 51 51
F15 5. 322 1. 67E+07 5. 390 3. 02E+05
BERE 0.874 4. 29E+08 0.276 2. 23E+05
R (B 5. 362 2. 30E+05 5. 362 2. 30E+05
=AfE 9. 505 3. 20E+09 6.079 1. 20E+06
&/ME 4.146 1. 40E+04 4.740 5. 50E+04
N=a=En.d N=fu=En. 4 s
oo o i s — I MRE | BIE |gap | HE | RE |WROR | SR | BEE | mEe| B8 Z0ft
z REA faR A faR LAY A ; SF | %l | BB ME | 4B | E | TH | E R
(BR) | (EHD) | GBRLL | (E%i) 3y
54 — 1 5. 471 3. OE+05 A 5.0 1/31 8:45 1/31 3.13 1/31] 35.0 2/1 35.0 RbYT AL
54 — 2 5.531 3. 4E+05 A 5.0 1/31 8:45 1/31 4.17 1/31] 35.0 2/1 35.0 RbYT AL
54 — 3 5. 380 2. 4E+05 R 5.0 1/31 8:45 1/31 3.97 1/31] 35.0 2/1 35.0 REYT AL
55 — 1 4.857 1. 2E+04 5! &t B 1/31 | 10:00 | 1/31 10.3 1/31] 356.0 | 2/1 | 35.0
55 — 2| 4.881 1. 6E+04 5! &t i A 1/31 | 10:00 | 1/31 10.1 1/31] 356.0 | 2/1 | 35.0
55 — 3] 5.079 1. 2E+05 5 it i 1/31 | 10:00 | 1/31 10.1 1/31| 36.0 | 2/1 | 35.0




